Math 1149, Quiz #13, Fall 2013 Name {<E \r |

Instructions: Show all work. Answer each
specifically asked to round.

question as completely as ;%ossible. Use exact answers unless

1. Find the equation (in rectangular form) of the hyperbola with|a center at (-3,-4), a one focus at
(-3,-8), and a vertex at (-3,-2). Sketch the graph. Clearly label|the center, both foci, both
vertices, and both asymptotes. Given the equation of each asymptote.
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2. For the polar conicr =

3_6303 7 find the eccentricity and state whether the equation is a
parabola, a hyperbola or an ellipse. What information in the equation tells you how the graph is

oriented?

(& I} "R [

(/2 2 ; e S
A~ e = \ = = @ = 97_/
S A = S S RUZ SR e /O

ki%ﬁ”t[ﬁfg,

@Qﬁ o el Lo 1 /{ Lfezx ﬁ—'t:f_,..-'i-ﬁ_..:'-.ﬁb-«f?&-'ﬁ-kﬁ P
- A - A {



